RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Commerce Committee Contract with Daniel S. Press)

RES. NO. 64-87

1	WHEREAS,	Rosemary Lopez, Chairperson of the Commerce Committee did receive a
2	= 1	contract proposed by Daniel S. Press representing the firm of Heron,
3		Burchette, Ruckert & Rothwell; and
4	WHEREAS,	the contract provides the mechanism for developing a comprehensive
5		approach to economic development, for obtaining new authority for the
6		health department, for assisting farms to be created pursuant to the
7 8		water settlement to participate in USDA crop support programs, and for
9		assisting the Committees of this Council to prepare their juris-
10		dictional statements; and
11	WHEREAS,	Daniel S. Press has in the past provided services to the Nation in the
12		area of TERO and Health; and
13	WHEREAS,	the Tohono O'Odham Legislative Council does see a need to utilize the
14		services proposed in this contract; and
15	WHEREAS,	the Tohono O'Odham Legislative Council, by Resolution 13-87 instructed
16		its Commerce Committee to renegotiate said contract to address
17 18		concerns of the Council, and said negotiations have been successfully
19		completed such that a satisfactory revised proposal and contract have
20		been submitted by Daniel S. Press; and
21	WHEREAS,	aforementioned Resolution 13-87 also instructed the Budget & Finance
22		Committee of this Council to identify funds to pay the costs for the
23	,	services of Mr. Press, and that Committee has informed the Council
24		that it has identified the necessary funds.
25	NOW, THE	REFORE, BE IT RESOLVED that the Tohono O'Odham Legislative Council
26		hereby approves the contract submitted by Daniel S. Press to:
27 28		<ol> <li>Assist the Nation develop a comprehensive approach</li> </ol>
29		to economic development.
30	1 12	<ol> <li>Obtain legislation permitting the irrigated farms to be created out of the water case settlement to</li> </ol>
31		participate in USDA farm support programs from the farm's inception.

3. Assist the Nation obtain legislation designating

32

(Commerce Committee Contract with Daniel S. Press) Page Two (2) its Health Department as a demonstration project 1 with certain benefits, exemptions and funding. 2 4. Assist the Committees of the Legislative Council 3 to prepare their jurisdictional statements. 4 The contract is, by reference, made a part of this Resolution. 5 BE IT FURTHER RESOLVED that the Tohono O'Odham Legislative Council authorizes 6 and appropriates a sum not to exceed \$38,000 [\$32,500 for the 7 Commerce Committee] and [\$5,500 for all Legislative Committees], 8 to pay for the services to be provided under the contract by Mr. 9 Press, said funds coming from such accounts as designated by the 10 11 Budget & Finance Committee, namely: Administrative Provisions. BE IT FURTHER RESOLVED that \$25,000 shall be paid to Mr. Dan Press out of the 12 13 Water Resources budget. 14 BE IT FURTHER RESOLVED that \$3,000 shall be paid to Mr. Dan Press out of the 15 Health Board's budget. 16 BE IT FURTHER RESOLVED that the Chairmen of the various Council Committees 17 listed in the contract as the Nation's contract representatives shall 18 serve in those capacities and shall report regularly to the Council 19 on the work products being provided through the contract. 20 21 BE IT FURTHER RESOLVED that the cost of all services combined shall not exceed 22 \$66,000. 23 The foregoing resolution was passed by the Tohono O'odham Council on the 9th day of February, 1987, at a meeting at which a quorum was present with a vote 24 of  $\underline{1262.0}$  for;  $\underline{199.5}$  against;  $\underline{178.5}$  not voting; and  $\underline{03}$  absent, pursuant to the 25 powers vested in the Council by Section 1 (f) of Article VI of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on 26 January 18, 1986, and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act 27 of June 18, 1934 (48 Stat. 984). 28 TOHONO O'ODHAM LEGISLATIVE COUNCIL 29 30 31 Toro, Legislative Chairperson day of Tobruary, 1987.

RES. NO. 64-87

32

	RES. NO. 64-87 (Commerce Committee Contract with Daniesl S. Press) Page Four (4)					
	[발표 : 그렇지만 얼마하다 말로 하다 사람들이 모든 그리겠다. [1] 그리고 그리고 있다.					
1	ATTEST:					
2	0,00					
3	July aller					
4	Assistant Legislative Secretary day of Tebruary 1987.					
5	0					
6	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the $19$ day of $70$ , at $1208$					
7	기 o'clock, 뇬 .M., pursuant to the provisions of Section 5 of Article VII of t					
8	Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.					
9	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
10						
11	a la man DA:					
12	Harriet Toro, Legislative Chairperson					
13						
14	[ ] APPROVED ) on the 23 day of February, 1987, at					
15	[ $\times$ ] DISAPPROVED ) _8:30_ o'clock, $A$ .M.					
16	P.1-11					
17	JOSTAH MOORE, Chairman					
18	TÓHONO O'ODHAM NATION					
19	Returned to Legislative Secretary on the 24th day of February 1987,					
20	at <u>Q:00</u> o'clock, <u>Q</u> .M.					
21						
22	Arrinda allan					
23	Assistant Legislative Secretary					
24						
25						
26 27						
28						
29						
30						
31						
32						

MOVED: JULIA CARRILLO

SUBJECT: COMMERCE COMMITTEE CONTRACT WITH

SECOND: ROSEMARY LOPEZ

DANIEL S PRESS

DATE: FEBRUARY 9, 1987

RESOLUTION XORXXORIOXIXMANNOEX # 64-87

DISTRICTS		REPRESENTATIVES	# OF VOTES	FOR	AGAINST	VOTING	ABSENT
SIF OIDAK	1.	Elliott Lewis (Eugene F. Jose)	69.0	, <b>x</b>			
138	2.		69.0	<b>X</b>			X
SELLS	1.	Andrew M. Patricio (Nora Alveraz)	128.5	X			
257	2.	Fred Stevens, Sr.	128.5	Х			
SCHUK TOAK	1.	Joseph Juan	52.5	X			
L05	2.	Julia Carrillo (JoAnn Francisco)	52.5	X			
SAN XAVIER	1.	Yvonne Corella (Austin Nunez)	63.0	х			
126	2.		63.0	X			
BABOQUIVARI	1.	Edward N. Kisto	120.5			X	
241	2.	Kenneth Chico, Sr. (Frances Miguel)	120.5		X		
GU ACHI	1.	Angelo Joaquin, Sr.	79.0		X		
158	2.	Fernando Joaquin (	79.0	X			
PISINEMO	1.	Jerome Antone (Consuela Mendoza)	58.0			х	
116	2.		58.0	X			
SAN LUCY	1.	John Reno	42.5	x			
85	2.	Max P. Jose (Dewey Ortega)	42.5	Х			Х
GU VO	1.	Virgil Lewis	58.5	Х			
117	2.	(Roy Montana) Cross Antone (Fern Salcido)	58.5	х			
HICKIWAN	1.	Henry A. Ramon (Pablo Baptisto)	64.0	х			X
128	2.	되는 그렇게 있다면 하다는 그는 사람들이 되었다. 그는 그 그 아이들이 모든 그 모든 그를 되었다. 그는 그를 다 그리고 있다면 그를 다 되었다.	64.0	X			
CHUKUT KUK	1.	Rosemary Lopez (Anita C. Clark)	84.5	X			
169	2.	Harriet Toro (Marvin J. Thomas)	84.5	Х			
TOTALS			1640.0	1262.0	199.5	178.5	03